
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Prozentzahlen (fehlende Zahl)

________ × 80% = 33.6 ________ × 10% = 2.7

________ × 80% = 69.6 ________ × 40% = 25.2

________ × 30% = 5.7 ________ × 80% = 73.6

________ × 90% = 61.2 ________ × 30% = 17.4

________ × 20% = 17.6 ________ × 90% = 3.6

________ × 40% = 18 ________ × 10% = 5

________ × 30% = 21.9 ________ × 40% = 25.6

________ × 40% = 21.2 ________ × 20% = 1.8

________ × 90% = 45 ________ × 90% = 54.9

________ × 80% = 18.4 ________ × 50% = 13
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Prozentzahlen (fehlende Zahl)

42 × 80% = 33.6 27 × 10% = 2.7

87 × 80% = 69.6 63 × 40% = 25.2

19 × 30% = 5.7 92 × 80% = 73.6

68 × 90% = 61.2 58 × 30% = 17.4

88 × 20% = 17.6 4 × 90% = 3.6

45 × 40% = 18 50 × 10% = 5

73 × 30% = 21.9 64 × 40% = 25.6

53 × 40% = 21.2 9 × 20% = 1.8

50 × 90% = 45 61 × 90% = 54.9

23 × 80% = 18.4 26 × 50% = 13
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